ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6201 - Furnish, Haul and Spread approximately 1,300 cu. yds. of processed road gravel (22-A Modified) at ONE (1) location in Allegan and Valley Townships.

R. Smith & Sons	Location #1 =	1,300 cu. yds.	@	\$15.47	=	\$20,111.00
				Total	=	\$20,111.00
Stoneco of Michigan	Location #1 =	1,300 cu. yds.	@	\$25.95	=	\$33,735.00
				Total	=	\$33,735.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6203 - Furnish, Haul and Spread approximately 3,000 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Cheshire Township.

R. Smith & Sons	Location #1 = Location #2 =	1,000 cu. yds. 2,000 cu. yds.	@	\$14.54 \$14.54	=	\$14,540.00 \$29,080.00
				Total	=	\$43,620.00
Stoneco of Michigan	Location #1 = Location #2 =	1,000 cu. yds. 2,000 cu. yds.	@	\$25.95 \$25.95	= =	\$25,950.00 \$51,900.00
				Total	=	\$77,850.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6205 - Furnish, Haul and Spread approximately 4,000 cu. yds. of processed road gravel (22-A Modified) at FOUR (4) locations in Dorr Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 = Location #4 =	1,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @ @	\$14.72 \$14.72 \$14.72 \$14.72	= = = =	\$14,720.00 \$14,720.00 \$14,720.00 \$14,720.00
				Total	=	\$58,880.00
Stoneco of Michigan	Location #1 = Location #2 = Location #3 = Location #4 =	1,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @ @	\$16.20 \$16.20 \$16.58 \$16.58	= = = =	\$16,200.00 \$16,200.00 \$16,580.00 * \$16,580.00 *
				Total	=	\$65,560.00 *

<sup>\*</sup> Denotes Math Error on Bid Form

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6207 - Furnish, Haul and Spread approximately 1,750 cu. yds. of processed road gravel (22-A Modified) at THREE (3) locations in Ganges Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 =	650 cu. yds. 600 cu. yds. 500 cu. yds.	@ @	\$22.17 \$22.17 \$22.17	= = =	\$14,410.50 \$13,302.00 \$11,085.00
				Total	=	\$38,797.50
Stoneco of Michigan	Location #1 = Location #2 = Location #3 =	650 cu. yds. 600 cu. yds. 500 cu. yds.	@ @	\$22.58 \$22.58 \$22.58	= = =	\$14,677.00 * \$13,548.00 * \$11,290.00 *
				Total	=	\$39,515.00 *

<sup>\*</sup> Denotes Math Error on Bid Form

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6208 - Furnish, Haul and Spread approximately 1,900 cu. yds. of processed road gravel (22-A Modified and 21AA) at ONE (1) and spot locations in Gun Plain Township.

R. Smith & Sons	22A 21AA	Location #1 = Spot apps=	1,600 cu. yds. 300 cu. yds.	@	\$16.53 \$28.70	= =	\$26,448.00 \$8,610.00
					Total	=	\$35,058.00
Stoneco of Michigan	22A 21AA	Location #1 = Spot apps=	1,600 cu. yds. 300 cu. yds.	@	\$16.58 \$29.25	= =	\$26,528.00 * \$8,775.00
					Total	=	\$35,303.00 *

<sup>\*</sup> Denotes Math Error on Bid Form

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6209 - Furnish, Haul and Spread approximately 1,000 cu. yds. of processed road gravel (22-A Modified) at ONE (1) location in Heath Township.

R. Smith & Sons	Location #1 =	1,000 cu. yds.	@	\$17.72	=	\$17,720.00
				Total	=	\$17,720.00
Stoneco of Michigan	Location #1 =	1,000 cu. yds.	@	\$25.58	=	\$25,580.00 *
				Total	=	\$25,580.00 *

<sup>\*</sup> Denotes Math Error on Bid Form

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6210 - Furnish, Haul and Spread approximately 4,250 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Hopkins Township.

Stoneco of Michigan	Location #1 = Location #2 =	2,500 cu. yds. 1,750 cu. yds.	@	\$16.58 \$16.58	= =	\$41,450.00 * \$29,015.00 *
				Total	=	\$70,465.00 *
R. Smith & Sons	Location #1 = Location #2 =	2,500 cu. yds. 1,750 cu. yds.	@	\$17.17 \$17.17	= =	\$42,925.00 \$30,047.50
				Total	=	\$72,972.50

<sup>\*</sup> Denotes Math Error on Bid Form

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6212 - Furnish, Haul and Spread approximately 2,600 cu. yds. of processed road gravel (22-A Modified) at THREE (3) locations in Lee Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 =	600 cu. yds. 1,500 cu. yds. 500 cu. yds.	@ @ @	\$15.89 \$15.89 \$15.89	= = =	\$9,534.00 \$23,835.00 \$7,945.00
	2004.01.70	000 04. 740.		Total	=	\$41,314.00
Stoneco of Michigan	Location #1 = Location #2 = Location #3 =	600 cu. yds. 1,500 cu. yds. 500 cu. yds.	@ @	\$28.95 \$28.95 \$28.95	= = =	\$17,370.00 \$43,425.00 \$14,475.00
				Total	=	\$75,270.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6213 - Furnish, Haul and Spread approximately 3,000 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Leighton Township.

R. Smith & Sons	Location #1 = Location #2 =	1,000 cu. yds. 2,000 cu. yds.	@	\$15.66 \$15.66	= =	\$15,660.00 \$31,320.00
				Total	=	\$46,980.00
Stoneco of Michigan	Location #1 = Location #2 =	1,000 cu. yds. 2,000 cu. yds.	@	\$16.20 \$16.20	= =	\$16,200.00 \$32,400.00
				Total	=	\$48,600.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6214 - Furnish, Haul and Spread approximately 6,250 cu. yds. of processed road gravel (22-A Modified) at NINE (9) locations in Manlius Township.

R. Smith & Sons	Location #1 =	650 cu. yds.	@	\$17.59	=	\$11,433.50
	Location #2 =	600 cu. yds.	@	\$17.59	=	\$10,554.00
	Location #3 =	1,000 cu. yds.	@	\$17.59	=	\$17,590.00
	Location #4 =	750 cu. yds.	@	\$17.59	=	\$13,192.50
	Location #5 =	700 cu. yds.	@	\$17.59	=	\$12,313.00
	Location #6 =	750 cu. yds.	@	\$17.59	=	\$13,192.50
	Location #7 =	200 cu. yds.	@	\$17.59	=	\$3,518.00
	Location #8 =	900 cu. yds.	@	\$17.59	=	\$15,831.00
	Location #9 =	700 cu. yds.	@	\$17.59	=	\$12,313.00
				Total	=	\$109,937.50
Stoneco of Michigan	Location #1 =	650 cu. yds.	@	\$19.95	=	\$12,967.50
	Location #2 =	600 cu. yds.	@	\$0.00	=	\$0.00 **
	Location #3 =	1,000 cu. yds.	@	\$0.00	=	\$0.00 **
	Location #4 =	750 cu. yds.	@	\$19.58	=	\$14,685.00 *
	Location #5 =	700 cu. yds.	@	\$0.00	=	\$0.00 **
	Location #6 =	750 cu. yds.	@	\$25.95	=	\$19,462.50
	Location #7 =	200 cu. yds.	@	\$25.95	=	\$5,190.00
	Location #8 =	900 cu. yds.	@	\$25.95	=	\$23,355.00
	Location #9 =	700 cu. yds.	@	\$0.00	=	\$0.00 **
				Total	=	\$75,660.00 *

<sup>\*</sup>Denotes Math Error on Bid Form

<sup>\*\*</sup>Denotes No Bid

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6215 - Furnish, Haul and Spread approximately 8,700 cu. yds. of processed road gravel (22-A Modified) at FOUR (4) locations in Martin Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 = Location #4 =	4,700 cu. yds. 2,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @ @ @	\$15.57 \$15.57 \$15.57 \$15.57	= = = =	\$73,179.00 \$31,140.00 \$15,570.00 \$15,570.00
				Total	=	\$135,459.00
Stoneco of Michigan	Location #1 = Location #2 = Location #3 = Location #4 =	4,700 cu. yds. 2,000 cu. yds. 1,000 cu. yds. 1,000 cu. yds.	@ @ @	\$0.00 \$17.70 \$16.58 \$16.58	= = = =	\$0.00 ** \$35,400.00 \$16,580.00 * \$16,580.00 *
				Total	=	\$68,560.00 *

<sup>\*</sup>Denotes Math Error on Bid Form

<sup>\*\*</sup>Denotes No Bid

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6217 - Furnish, Haul and Spread approximately 2,000 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Otsego Township.

R. Smith & Sons	Location #1 = Location #2 =	1,000 cu. yds. 1,000 cu. yds.	@	\$16.99 \$16.99	=	\$16,990.00 \$16,990.00
				Total	=	\$33,980.00
Stoneco of Michigan	Location #1 = Location #2 =	1,000 cu. yds. 1,000 cu. yds.	@	\$18.45 \$18.45	= =	\$18,450.00 \$18,450.00
				Total	=	\$36,900.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6221 - Furnish, Haul and Spread approximately 1,350 cu. yds. of processed road gravel (22-A Modified) at TWO (2) locations in Trowbridge Township.

7.222 67 81, 100 10							
R. Smith & Sons	Location #1 = Location #2 =	1,000 cu. yds. 350 cu. yds.	@	\$16.89 \$16.89	= =	\$16,890.00 \$5,911.50	
				Total	=	\$22,801.50	

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6223 - Furnish, Haul and Spread approximately 6,550 cu. yds. of processed road gravel (22-A Modified and 21AA) at FOUR (4) locations in Watson Township.

R. Smith & Sons	22A	Location #1 =	1,000 cu. yds.	@	\$16.96	=	\$16,960.00
	22A	Location #2 =	1,000 cu. yds.	@	\$16.96	=	\$16,960.00
	22A	Location #3 =	2,000 cu. yds.	@	\$16.96	=	\$33,920.00
	21AA		50 cu. yds.	@	\$29.14	=	\$1,457.00
	22A	Location #4 =	2,500 cu. yds.	@	\$16.96	=	\$42,400.00
					Total	=	\$111,697.00
Stoneco of Michigan	22A	Location #1 =	1,000 cu. yds.	@	\$18.45	=	\$18,450.00
	22A	Location #2 =	1,000 cu. yds.	@	\$25.20	=	\$25,200.00
	22A	Location #3 =	2,000 cu. yds.	@	\$18.45	=	\$36,900.00
	21AA		50 cu. yds.	@	\$33.00	=	\$1,650.00
	22A	Location #4 =	2,500 cu. yds.	@	\$18.45	=	\$46,125.00
					Total	=	\$128,325.00

ALLEGAN COUNTY ROAD COMMISSION 1308 LINCOLN ROAD ALLEGAN, MI 49010 PROJECT NO. 6224 - Furnish, Haul and Spread approximately 2,550 cu. yds. of processed road gravel (22-A Modified) at THREE (3) locations in Wayland Township.

R. Smith & Sons	Location #1 = Location #2 = Location #3 =	650 cu. yds. 900 cu. yds. 1,000 cu. yds.	@ @	\$15.67 \$15.67 \$15.67	= = =	\$10,185.50 \$14,103.00 \$15,670.00
				Total	=	\$39,958.50
Stoneco of Michigan	Location #1 = Location #2 = Location #3 =	650 cu. yds. 900 cu. yds. 1,000 cu. yds.	@ @ @	\$20.70 \$20.70 \$16.20	= =	\$13,455.00 \$18,630.00 \$16,200.00
				Total	=	\$48,285.00